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A) Choose the correct option.
1. Global warming may cause the .... of some animals and plants.
A) pollution B) situation C) permission D) extinction

2. Taking regular exercise helps keep your body .... .

A) aerobic B) repetitive C) flexible D) proud
3. Things can move .... on flat surfaces.

A) smoothly B) luckily C) firmly D) deeply
4. To emphasize main points, you can .... the volume of your voice.

A) disturb B) increase C) distract D) release

B) Match the definitions in column A with the words in B.

A B
1. full of people: (...... ) a. destructive
2. keep somebody safe: (...... ) b. concentrate
3. give all your attention to something: (...... ) c. region
4. a particular area or part in a country: (...... ) d. populated
e. protect

C) Use these words in the following sentences.
(excellent, environment, provide, efficiently, confidence)

1. Living things depend on the .................... in which they live.

2. If she had more .................... in herself, she would be more successful.
3. L¥ is possible Tor all of you Yo get . ..... s - ssus 5 can marks on this easy test.
4. To .o sth means to make it available for sb who needs it.
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D. Complete the following sentences. 2
1. The world is getting warmer; that is why we should ...
2. Learning English is important DEEoUse ... summansmmsimm et

3. To create a happy atmosphere while giving a speech, use ...

4. Don't eut Yoo much food if you want: ¥0: ..o amsmmmsmamnosmsssssssss

E) Choose the correct option.

1. He involved his audience by .... them some questions.

A) asking B) ask C) to ask D) asked
2. You can enjoy exercising .... you are young or old. 4
A) when B) since C) whether D) as

3. The cars .... in this factory do not need much gasoline.
A) are producing B) producing C) are produced D) produced

4. They were not .... to answer all the questions on the test.
A) enough fast B) fast enough C) enough quickly D) quickly enough

F) Rewrite the following sentences using the words given. 2

1. I allowed my students to leave earlier. ( let )

G) Make sentences with the following words.

1. the sun, coming, is, the energy, from, solar energy. 2




H) Choose the correct option.

1. It is possible that a winter day in a city could be sunny and mild, but the
average weather tells us that its winters will mainly include snow and rain.

The underlined phrase "average weather" means ...... :

A) atmosphere B) air and water C) climate D) temperature

2. Though millions of people may never experience an earthquake, it is a
common happening on this planet. According to the above sentence, ...... .
A) everybody will experience an earthquake

B) earthquakes happen on every planet

C) our planet has never experienced earthquakes

D) earthquakes usually occur on earth

3. Exercise keeps people's bodies and minds healthy. Without it, we would not be
feeling or looking good. In other words, exercise ...... .

A) relies on people's bodies and minds C) releases harmful chemicals in us

B) helps us keep fit D) makes us store fat

4. Sometimes tone of voice can have a stronger effect than the message.
Put feeling and energy in your voice and add variety to your speech.

The above two lines emphasize "...... " as a communication power tool.
A) voice projection C) facial expressions
B) audience involvement D) eye contact

I) Choose the options which best complete the following text.

The world is getting warmer. But why? And how? Well, scientists are not ..1..
sure. They think that human ..2.. like cutting down the trees, ..3.. trash, and
..4_. fuels like coal and oil are helping make the earth ..5.. . They think that..6..
we use more gasoline and electricity, the earth is going to get warmer. They
believe that we know ..7.. about the problem to ..8.. some action.

1. A) anxiously B) directly C) nervously D) exactly

2. A) activities B) conditions C) univercities D) occasions
3. A) destroying B) producing C) breathing D) introducing
4. A) trapping B) storing C) burning D) carrying

5. A) warmer B) lighter C) thinner D) softer

6. A) although B) even C) so far D) as

7. A) too B) such C) enough D) so

8. A) give B) take C) get D) make
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J) Read the following passages and answer the questions.
Passage 1:

Louis Pasteur was very interested in what happened to food when it decayed. In
his laboratory, he had a microscope, an instrument for making things appear larger
so that people can see them easily. He spent a long time looking at a drop of liquid
food under his microscope. He found that the microbes which made food bad could
be killed if they were heated. Then, the food would keep good for a long time. In
many cities, we are given milk in pasteurized bottles. This means that it is heated
to destroy microbes.

1. Which word in the text means "tool" ?

2. Which word in the text means “spoiled” or "went bad"?
3. What does the pronoun "it" in line 6 refer to ?

4. The best title for the above text would be ...... :

A) Microscopes B) Pasteurization C) Microbes D) Destruction

Passage 2: 8

Fifty years ago coal was the main source of power. It was used to heat water
to make steam. Many kinds of machines were driven by steam. Trains or ships full
of passengers or goods were pushed by steam. But nowadays coal is not the
most important fuel. Its place has been taken by oil. Qil is found in many parts of
the world. Qil, like coal, was formed millions of years ago. It lies at a great depth
under the surface of the land. It then passes between layers of hard rock. When
a hole is dug into the rock, oil is forced out by the natural gas that is always
found with it.

1. Oil can be found at a great depth under the surface of the land.
A) True B) False C) Not mentioned

2. Coal and oil are the most important fuels in the world today.
A) True B) False C) Not mentioned

3. The pronoun "it" in the last line of the passage refers to .... .

A) natural gas B) hole C) rock D) oil
4. We can find the names of .... different fuels in this text.
A) two B) three C) four D) five

Good Luck
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